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With the current implementation, the test case fails at Step 6 as some UEs send a NACK. This depends on the HARQ soft combining implementation 

Please see the above picture.
If for e.g. the sliding window is 4 then when Step 4 is executed, then this would result in 100% CRC Pass PDUs and therefore UE will send an ACK.

If the sliding window is set to 8, then when Step 4 is executed, this would result in 50% CRC pass and will still result in NACK PDU. In order to ensure that the UE received more than 50% CRC pass, we need to transmit Step 4 once more and absorb the NACK received.
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Change 1 f_TC_7_1_3_4a_EUTRA
	Function name
	f_TC_7_1_3_4a_EUTRA

	Reason for change
	With the current implementation, the test case fails at Step 6 as some UEs send a NACK. This depends on the HARQ soft combining implementation 

Please see the above picture.

If for e.g. the sliding window is 4 then when Step 4 is executed, then this would result in 100% CRC Pass PDUs and therefore UE will send an ACK.

If the sliding window is set to 8, then when Step 4 is executed, this would result in 50% CRC pass and will still result in NACK PDU. In order to ensure that the UE received more than 50% CRC pass, we need to transmit Step 4 once more and absorb the NACK received.

	Summary of change
	Modified the code to receive one additional NACK before expecting an  ACK.

	TTCN module
	MAC_eMTC.ttcn

	MCC160 Comment
	


Before change
function f_TC_7_1_3_4a_EUTRA() runs on EUTRA_PTC

  { /* 7.1.3.4a :Correct HARQ process handling / DCCH and DTCH/ Enhanced Coverage / CE Mode A */
      <<SKIPPED CODE>>
      //@siclog "Step 6" siclog@

      //@sic R5s170503 sic@

      SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, ?, ack));

      f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 6");

      t_Watchdog.stop;
      <<SKIPPED CODE>>
  }
After Change 
function f_TC_7_1_3_4a_EUTRA() runs on EUTRA_PTC

  { /* 7.1.3.4a :Correct HARQ process handling / DCCH and DTCH/ Enhanced Coverage / CE Mode A */
     <<SKIPPED CODE>>
      //@siclog "Step 6" siclog@

      //@sic R5s170503 sic@
      //WA#7_1_3_4a

      alt {

        [] SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, ?, ack))

          {

            f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 6");

            t_Watchdog.stop;

          }

        [v_Nack_Count<2] SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, ?, nack))

          {

            v_Nack_Count := v_Nack_Count +1;

            repeat;

          }

        [] t_Watchdog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 6: UE did not send HARQ ACK");

          }

      }
      <<SKIPPED CODE>>
  }

